Písemná práce 23
Převeď      
A

2 000 cm3 = …. m3
3 000 000 000 mm3 = …. m3
4 km3 = …. m3
5 000 000 dm3 = …. m3
B

5 000 000 mm3 = …. m3
9 000 dm3 = …. m3
8 km3 = …. m3
4 000 000 000 cm3 = …. m3
řešení
A

2 000 cm3 = 2000:100 00 00 = 0,002m3
3 000 000 000 mm3 =3000 000 000:1000 000 000 = 3 m3
4 km3 = 4 * 1000 000 000 = 4 000 000 000 m3
5 000 000 dm3 = 5 000 000:10 0 0 = 5 000 m3
B

5 000 000 mm3 = 5 000 000: 1000 000 000= 0,005 m3
9 000 dm3 = 9 000:10 0 0 = 9 m3
8 km3 = 8 *1000 000 000 = 8 000 000 000 m3
4 000 000 000 cm3 = 4 000 000 000 : 100 00 00 = 4 000m3
